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01 AtR 22l H] 8,100 8,100 0
O bBt=2H| 8,100,000& 8,100
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OZ2Z22Z2Y M Al 13,500
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olMzxzE da3FH| 1,000,000& 1,000
206 M= Hl 3,000 3,000 0
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OYiSHM A L orMEH P2 3,000
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OZTRE J=FHNALY B8
20,000,000& 20,000
401 Al Bl 20 HI 45,000 95,000 250,000
01 A& HI 45,000 95,000 250,000
O23M ¥ FHAIE HY| 45,000
oL 23 M EXT LA 5,000,000& 5,000
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oFH MHAEN 5,000,000& 5,000
OFAMNMEA =M dbEl K& 3,000,000& 3,000
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QJtat & #EM MdbBl XI& 3,000,000 3,000
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20,000,000 20,000
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16,000,000& 16,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 A& HIZ 201 I 70,000 154,000 A 84,000
J| 35,000
< 10,500
Al 24,500
01 A& HI 70,000 154,000 A 84,000
Ozt&etlf ZXE MA o e
70,000,000 70,000
J| 35,000
= 10,500
Al 24,500
=LA 25 A& 100,400 100,000 400
J| 15,305
= 15,305
Al 69,790
201 L2l 2,200 4,000 A 1,800
J| 575
< 575
Al 1,050
01 At 2t 2l 1,500 4,000 A2,500
O2=t2Zoi& A 3 1,500,000& 1,500
J| 225
< 225
Al 1,050
02 =24l 700 0 700
OFZst2ZoH&EAl HHAHEEZ 700,000& 700
J| 350
< 350
301 et d = 98,200 96,000 2,200
J| 14,730
= 14,730
Al 68,740
09 &AL HI 2 &S 4,000 4,000 0
o2t Las A 2Hl 243
4,000,000 4,000
J| 600
< 600
Al 2,800
MIIEELd=3 94,200 92,000 2,200
O=2st2ZHEA &=t 91,200,000& 91,200
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< 13,680
Al 63,840
O=2322& & A T=tl 3,000, 000& 3,000
J| 450
< 450
Al 2,100
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2N S22
M AT A SH(2gLazy/z2)
thel: 2 olmet &E (9 ® =)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
201 et A | 20,000 20,000 0
03 S AIS H I 20,000 20,000 0
oAZM FX HEN A ZHl 20,000,000 20,000
AMEIC A4E Y2 44X 110,000 0 110,000
301 YerE A3 10,000 0 10,000
11 IIEtE A2 10,000 0 10,000
O&d XEHEZE LA B2 A= 10,000
oXRH 5,000,000& 5,000
o = 3,000,000& 3,000
o o 2,000,000& 2,000
401 A& HI L RO 100,000 0 100,000
01 A& HI 100,000 0 100,000
OAtA XEE &AX JI24HE29|
100,000, 000& 100,000
DAHMES2NAEL EHAY 200,000 0 200,000
& 100,000
Al 100,000
401 Al HI YL 2 0HHI 200,000 0 200,000
T 100,000
Al 100,000
01 A& HI 200,000 0 200,000
OINAEMESESENASL ZHEAIY
200,000,000 200,000
& 100,000
Al 100,000
SR Y 430,238 132,573 297,665
ZZAIE S 22 230,238 132,573 97,665
101 @121 14,538 14,573 A 35
04 JIZtHI22NEE 14,538 14,573 A 35
OZTALS Zel JI2HH 22X el A | 14,538
o0l fY 49,1003 x2H 115! 11,293
oF Xt 49,100& »2H x 16 1,672
o=0AHAZ E 40 BEE =S 12,865,000 *x13% 1,673
201 LEt2 Y| 135,700 57,000 78,700
01 AR 22| bl 12,000 13,600 A 1,600
Ot =2H| 12,000
oHUIBUANLEZE 2A2IEE 2 10,000,000& 10,000
o ROIAH =& 2,000,000& 2,000
02 3524l 123,700 43,400 80,300
O A& & Hl K XYl 34,200,000& 34,200
OZ2222=2Z M Al 11,500,000& 11,500
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401 Al HIZ 2018 80,000 60,000 20,000
01 A& HI 80,000 60,000 20,000
0ARR BFANEE 24 L I
60,000, 000& 60,000
Ot ZSL Xd ZA
20,000, 000& 20,000
EERESHE EdA &1 200,000 0 200,000
401 Al HI K 201 I 200,000 0 200,000
01 A& HI 200,000 0 200,000
OMHEERZAE EHA AXl 200,000,000 200,000
e G2 (2st2t20t)(JIEH/IIE) 89,080 86,200 2,880
ZHl 89,080 86,200 2,880
=&l 89,080 86,200 2,880
201 Let24d]| 10,000 10,000 0
01 At 22l 10,000 10,000 0
©F=R-Iget=:] 7,000,000 7,000
o=l 3,000,000& 3,000
202 044l 74,880 72,000 2,880
01 = LH o4 1l 74,880 72,000 2,880
O2EF I 240,0003 x26H 123 74,880
203 YR =&l 4,200 4,200 0
04 FENSEHR=LH 4,200 4,200 0
ORN2Y HRF=2HI 350,000& 128 4,200




